1o Hadley cell is formed between which two
] i'il. L r

[+ pressure belts?
..1 1) Equatorial low pressure bell and sub-

tropical high pressure belt

(2) Sub-tropical high pressure belt and
sub-polar low pressure belt

(3) Sub-polar low pressure belt and polar
high pressure belt

(4) Sub-tropical high pressure belt and
polar high pressure belt

2. According to Human Development Index
2020, which of the following country is not
included in the top ten countries?

(1) Iceland

(2) Denmark

(3) Sweden

(4) Finland
3.  Which one of the following is an Acolian y¢-3.
 sedimentary rock?

(1) Loess

(2) Shale

(3) Sandstone

(4) Moraine

Heartland / Rimland Theory explains - 4.

" (1) Inter - province relationship

(2) Centre - state relationship

(3) Struggle between land and sea power

(4) Classification of states

The area famous for its ‘Duar formations’ is - 5.

(1) Kashmir Himalaya

(2) Himachal - Uttarakhand Himalaya
(3) Sikkim Himalaya
(4) Trans Himalaya

Which one of the following statement is not 6.
correct with respect to Raster model?
(1) Simple data structure
(2) Efficient for network analysis
(3) Simple for own programming
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Cord;
If_-.-ﬂu |ng. Iy [mIIra {ll"‘dhl Canal ]—}Lpﬂﬂmﬂ"l
Ciimen; of

PPI‘u_-;]m Rajasthan), what is the
(aceq ordj M€ length of (otal lift canals
fl] Ing 1p Ju]}r 202252
@) | 2024 km
> s A5 km
& 2090.00 km

8. ) 2515, 90 km

ic
a districts of Rajasthan are under the ‘Aw’
'FPE E}f Cllmate

according to Koeppen climate
“Iﬂ?ﬂﬁcatmn?

(1) Udaipur - Sirohj - Jalore - Rajsamand
(2) Jaipur - Alwar - Dausa - Bharatpur
(3)  Banswara - Dungarpur - Thalawar -
Pratapgarh
Kota - Bundi - Jhalawar - Sawai
Madhopur
Which of the following methods are used for
locating the plane table station?
(a) Resection
(b) Radiation
(¢) Traversing
(d) Intersection
Choose the correct answer using code given
below -
(1) bandd
(2) bandc
(3 aandc
(4) candd

(4)

9.

with the development of “System Analysis™?
(1) ChorleyR. J.

1 (2) JamesP.
(3) Harvey D.
(4) Freeman N. M.
i
:

11,- Which of the following ancient city was the #j_

a;pﬂalﬂfMﬂmpﬂtmnmandm:IaHangmg

10. Who among the following is not associated s10.

(1) 1020.24 A

@) 149545 A

@) 2090.00 fF L.

@) 2515.90 fEA.
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R':IEﬂ"" s a n‘]ief made hj’ ............. 12 Em o % 1
e B fafis !
.:"*-I-‘I"-|I Lnﬂjng water {1} a—g—fﬂ' T Nz
jerground water (2) i
e 3)
y wind ) e
t:“ Jlacier ;::rﬁ & GFER, BAE TEE e E,'.I;T
o = (o Piaget, expression only through 13 frey s A aey o Tl B
'ﬂ’crurd,::t%uilifﬁ are observed is which stage? a!{lii}lfﬂ! B S TS ST
il Sensory MOLOT SIAEE f'(z) it ApAT® I
lz: Concrete operational stage 3) @ ¥ e
( y Pre upemﬂnuﬂl stage % AT e
|l{li]l Formal ﬂPerﬂljnna] stage . é_;' ngim : Eﬁ,‘[@'ﬁl Frame — éﬂ m =
o< the correct sequence of the idea - area 14. >
Which 18 the ; L ) AT Rkl &
chain of “The Unified Field Theory™ o % _ o — ot
(1) Political idea - Movement - Decision - oo m” [. B
litical area RIS E
2 E[::i::al area - Movement - Decision - (2) HmEIGED gy — T — iy
{ Political idea TrEf® fguRA - 5
isi Hlitical - Movement - (3) frota — T o & — e
3 DE??IT; —d :311“‘?41 area - Mo : ey .
Polimcal It . - B 5
&) Political idea - Decision - Movement - A0 e iaqéa” ok — T
Political area SRl o PN
s T 15, e W @ e A P
. Which one of the fﬁlémﬂ“ﬂm correct about st ) GEDE? ;
the Indian monsoan= _— + o we a R
(1 Indian monsoon is & PIANCIAy 0C O i S ¥ w @ T
@ miﬁ'a'mﬁ;{iﬂhﬁ“ﬂm* st 1 A Ui S W & |
shiet S (3) fre w1 GO, A B ST B
continent.. . oo : he _ IaTR,
(3) The plgq#ﬂ_:?‘f.m i wﬁﬂ-ﬁiﬂ%l 4
arrival Of MONEIPL itk the rescarch (4) HERT @ Wﬁ"%”:im Ly
(4) “MogeR AR o o AT A
o T g scho 16 Frfofian ¥ 3 @ & fge A
Which of the 10 : Hard (¢ ic) foramanT FratRE &
the geocrati€ ld!# . g Geocrat
4. Humbo .
b. Ratzel X ~b, %E::H
¢. Riner .z' .
Siieth'm. ¢t ansWer using the code given FrefarfRaa ' ﬁz #T JgArET W el IER
| p o - S all s
ot R e
b d |
a b9l d




ach) Wit

Match Listp (Philosophical app©® swer
i : +{ an

Llf-'t-ll (Scholar) and select the corres

using the code given below -

A.
B.

o
D.
Code

(1)
(2)
(3)
(4)

List-1 I _1;;&[;
Behaviouralism a R o
Quantitative b. 0.HK. 5p2
Revolution : .
Radicalism o william Kirk
Probabilism d. 1 Burton

A B & D

d € b an

¢ d a b

c d b i

d b a ¢

From given points related to mixed fwg'
select the correct answer from the code given
below -

A.
B.
s

D.

Largely practised in highly developed
parts of the world

Farm size is moderate

Fodder crops, wheat, barley, oats, rye
efc. are grown

Low capital investmenl on farm
machinery

Code -

(1) Only Band C
(2) A.BandC

(3) Only Cand D
(4) All given above

mmwlmmmmmas.

following was established in University of
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21.

fo=1 @
ppeferfead { @A
-
which of the following g.F. and slalmnem...'ﬂl. - P s
e is correctly matched? GIREl — gﬁii‘-{ﬂ
- RE Statement Scale AT
(1) 1:1,02960 = lMilc.f}Furlnng.
g6 yard
2) L 1,04760 = | Mile, 5 Furlong 50
3 1198372 = 1 Mile, 6 Furlong,
30 yard
4 1 136,520 = | Mile, 7 Furlong
180 3ard.3Fc.e1
72, In which of the following Lypes of industry. 22.
large share of

24.

white collar workers make up &
1otal workforce?
(1 Pharmaceutical Industry
(2) Food Processing Industry
(3) Tron and Steel Indusiry
4) Cotton Textile Industry
According to Thornthwait ite’s classification of
m what is precipitation effectiveness
index for arid forest?
(1) 3263
(2) 64-127
(3) =128
(4) <l16
Which of the following pairs are correct
according to the 2011 census”?

State Characteristics of
population
‘a. Maharashtra - Population density
over 1000
b. Himachal - Least urban
Pradesh population
¢ Tamil Nadu - State with high sex

T ratio

A, Bihar - High percentage of
.. the urban population
Rl : Correct answer using the code given

(1) 32-63
(2) 64-127
(3) =128
44 <16 »
2. ad 2011 F wEE & oeR B A W

PR T A

a. WENTS TF AR | RS
_e— dfieTg - weg ferTe aven
MY
d. GRECEGE o i O
Bl GG
4 Ry T GE @ wE B wd I
qfT —
el pae
(2) adRe
(3) baRd
(4) caird
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25. Nag Pahad is located in -
(1) Ajmer
(2) Udaipur
(3) Pali
i4) Jalore

26. The Water (Prevention and Control of ﬂzﬁ-
Pollution) Act was enacted in -

(1) 1977

(2) 1982

(3 1974
(4) 2006

27. Match List-1 with List-I1 and select the correct 27,
answer using code given below -
List-1 List-11

[Volcanic Cones] [[lustration]
(A) Cinder (i) Mt Lzalco
(B) Composite (ii) Mauna Loa
(C) BasicLava  (iii) Mt Fuzyama
(D) Acid Lava (iv) Stromboli

Code -
(Ay B (€ (D)
1) iv i Hin =i

(2) i il 1 v
(3 u i iv il
(4) i v 1 ii

The ‘Theory of Optimum Population’ was
given by whom among the following?
(1) Edward West
{2) Edwin Cannan
(3) Margaret Sanger
(4) Thomas Sadler
29. Mangroves are mainly found in -
(1) Aravalli range
(2) Gir forests
(@) Lakshadweepislands
" o #Imiﬁf-;—_. kris

e
(3) 1974

4 1 < P g e A
g T e T ST @ W S P A

ey — _
T S

(A) ez () W goTed

®) T i) e A

(C) &y &l (iii) A1 TSI

(D) i Tl (iv) TErETel

‘EE‘E ar

A) @ (© ()
(1 iv ii d.od
(2) 1 1 DR iv




: ojections
30. Which one of the following map Pr)

does not show the equator?
(1) Stereographic polar 260 T,
(2) Orthographic polar zenithal HIHJ';’U‘::
(3) Gnomonic polar zenithal Pm-FECI. ion
(4) Lambert equal area senithal projection

anithal projection

31. The ‘Uniformitarianism’ concept Was given by
James Hutton in the year .......-ooes
(1) 1863
(2) 1765
(3) 1785
(4) 1885
32, The concept of Zone of Proximal Development
(ZPD) was given by whom?
(1) Piaget
(2) Bandura
3) Vygotsky
(4) Skinner

ucational Psychology is one of the many
branches of psychology dealing mainly with -
(1) Problem of Education only
{2) Process of Education only
(3) Problem, process and product of
Education
(4) Problem related to assessment only
3.  Hero worship is a feature of which stage”
(1) Infancy
(2) Adolescence
(3)  Early childhood
(4)  Adulthood

35, The author of the book *Environment, Race and
Migration’ is -
(1) Griffith Taylor
(2) Huntington
(3) A.G. Price
(4) E.C. Semple

36, Which of the following is not a correct mateh?

E (1) P‘i:Fa.njaJRangg - Banihg]
- (2) Zanskar Range 2 Fﬂuhm
g Dweii - Shipki La Pass
Range
(4) Ladakh Range
Ny R . - Khardung 4
rfass

3.

32.

Dﬂ-n.ﬁﬁ -

@) e grErs @A A .
o FC & udedaas e
.................. # wegget
(1) 1865
(2) 1765
1785.
4y 1885
?;#;ﬂﬂ1%ﬂﬂﬂTﬂFi{Zfﬂl}ﬂﬁ'Eﬁfﬂiﬂn“ﬁﬁﬁﬁ%
w1 &1 T
(1) o=
(2) U
L3 T
4) Re

(1) e e @ wE o
(2) wad fen o ufrar &
A3 fEmm & wuw, ufie @ 9oie 9
(4) @ae HaT W gy GaE 9

(1)  Frerargsern
A2) o
g il

(4)

' _'E"'E'wmmﬁ'w%m
(1) ffser 2o
(2) EfcTes

(337 Gﬁ.m.
) < e

Pt 3 ¥ ey
(M) 4R Tome s ﬁgﬂa%g—:
) Ty gh <7

F R~
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el @ e
B w3y Tl B e
PO i Tt P =1
14 for a limited pumbeT g ot [T g el '
43, “The table of nature is laid for @ 1 vited mus! AT 98T |
of guests and those who mﬂ“ “": - ﬁ ot
starve.” This statement was g1ven et (1) it i
(1) John Locke @ 9=
(2) James Stuart s IRy
(3) Malthus (4) o T @
(4) Thomas Mun & gafag 99 g
44. ‘Symmetrical’ and Asymmetrical’ are tYpes @ e E |
....................... m‘ﬁ
(1) folds (2) #IA.F
(2) faults (3) TCHIE o
(3) cracking qee fa
(4) crustal fracture & 3 9 =Ee @ A el -—?W
45. Which of the following is the sute group 4% B Po o Gy e Wod S L
growing three crops of rice - Aman, Aus and -4 = =R
Boro? (1) T 9
P :‘ma:z:lm;t o (2) ufmA e g@ 9
i t an nja = .
e @y ufem dme qd IEH
(3) West Bengal and Assam .
(4) Kerala and Tamil Nadu (4) Ve U9 Ay
An ariicle, ‘An Essay on the Principle of 46, ‘wrwem Rigld 9% (&% (e AM® o 1
Population’ was published in 1803 by - WeRTI 1803 F . BT 5 TTan e |
(1) Thomas Robert Malthus (1) eifFg Iae AeeE. '
(2) Thomas Daniel Malthus A2y oma Sfue A i
(3) William Walter Malthus £3) ﬁmﬁqw e
(4) William Godwin Malthus (4) fafem iefim Ao
47 Whowas the first o stae, that the climate isthe 47, Wdwemy fbwy 72wl R
main determinant of history, culture, way of ¥RER, W, ofies uefy den b
life and occupation? m.ﬂ ZRT R v _%? “2gdry
(1) F. Ratzel (1) % Yooy
el @) T, e
. Huniington 5 et
(4) E.Semple A:ir ::: 3&"’[37'[
48. The world famous Bikini Atoll is 4 3 . éﬂﬁ'
part of - 48.  faw whrg fafh
.................... _ =13 SRR, - -
(1) Aleutian Islands T 8 |
(2) Marshall Islands At IR e
(3)  New Caledonia Islands (2) aem
4)  Vanuatu Islands AL3Y
A - A Dferify é’l’q'q-:ﬁ

shna @ A
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49.

Where is the Great Barrier Reef located? 9. U= o S T fRea &
(1) Close to Greenland (1) Werdve & i
(2) Off Australian Coast (2} e affefar
(3) Central Arbinan Sea (3) &S wwEm " g
(4) Off California Coast @) aadE $ gﬂ’ﬁqﬂ
50. Which one of the following pairs is not S0 feifaftas # | @A T g™
correctly matched? &7 re:
Mineral Mining Area wfr i BE
(1) Lead - Zinc Mochia Magra (1) o — A r{ﬂ‘ﬂ_
(2) Manganese - Leelwani @) _ SreEr "
Gold Anandapur - ' _
" 4 S & d e
(4) Iron : Kolihan and L4y — miferEr
Mandhan ;;.»
§1. What is the correct North to South locational 51. fpafafag oo el ===
sequence of following minor plates? we st wF T aﬂﬁ ﬁﬁfl
(A) Nazca (B) JuanDe Fuca (A) ArwE-2 (B) 4 2
(C) Cocos (D) Scotia () e~ (D)
Code - He -
(1) (A), (B), (C). (D) (1) (A),(B), (C), (D)
(2) (B). (A), (D) (C) 2) @), (A) (D) (C)
(3) (B),(C)(A), (D) _@ (B),(C), (A), (D)
@ (C), (B), (A) (D) @) (C),(B). (A), (D)
52. Hp 8o =
5§2. Positive Reinforcement - _ SHANMME - 24
a  Increases desirable behaviour. -r‘ll: Tﬂm R {
b. Decreases desirable behaviour. . E"E_;"“ AN w9 &)
c. Decreases undesirable behaviour. c. e gﬁlq i‘iﬂﬂﬁ
choose correct option from the following - qjiir ﬁa?a:lm o 3
%J {(:3, ﬁ{, (2) @aa (b) W B
ES; (c) only {i? T@E"Eﬁ &
(4) Both (b) and () - (4 ¢ ol .
3. Microsoft word is an example of * {’i}i ' E_ﬂéw:t
(1) (Erucnee @) ST
@uREM. 37wl S
(3) Application software 4y foaven wiTeday
{‘] Sﬁtt:m software : Ws the 54, HaOR !Tﬂﬂﬂ $ CiR{G| ﬁﬂ_—a’}[ e u-{ﬁ.'
. ¢ jcation ’ -
s4. During the mmmllﬂlma_ S & % uRafita &A1 Feem & -
message 18 C-‘Ull-'fel'lﬁd Syt ﬂ" : .
called - ] % +p
i an (3) =
(2) Eumthyg | - R
{3} -..:"'IIIII*L' krishn:z .{‘)'
34 )+ i ydback e —
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what 18 the direction of trade winds in the
- gihern hemisphere?
L_ 1) South-East to North-West
[,-.: () South-West to North-East
3 (3) Norih-West to South-East
(4) North-East (o South-West
56, Which one of the Tfollowing sequences
comrectly represents the percentage of salts
found in sea water in decreasing order?
(1) Sodium chloride, magnesium chloride,
magnesium sulphate, calcium sulphate
(2) Snﬁihmwﬂﬁdmm_sium sulphate,
calcium sulphate, magnesium chloride
(3) Sodium chloride, calcium sulphate,
(4) Magnesium chloride, sodium chloride,
Wﬁu]phﬂe. calcium sulphate
§7. Which is the group of districts with the highest
and lowest sex ratio in the age group 0- 6 in the

(A} Seasonal pattemn of movement by
nomads and their animals
(B)  Transhumance
(C)  Livestock ranching perman
. g2 in en
tanches t

(D) The animals are raised for sale
Code
(1) (A)and (D)
(2)

| (A), (B), (C) and (D)
(3) {A) and (B)

(4) (A) (o (i

57, ad 2011 F TN § 0— 6 39 A H

waiftep vd e fermar are e @
g DI 27

(3) SEAR — AR
@) aiwarsT — e
58. R W Y o R ¥ -

(&) TRy aon aypet & e
e

'ﬁ-;d —
1) () stk )
—27(A), B), () o
(A) 3ty B

Faﬂtlinfi:\\\_\__ .
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59, Ihe ‘Sandur-Hospet® area is famous for froa 9. ”:"II'J-F_'FmT". g - _!;:I'T.-F‘T = T 7 ‘
ore mineral. It is locsed in which district of s 8 ﬁ'—'ﬂ:’ﬁ £ _T_A‘-'” - :
Karmataka? e a 3
(1) Tumku (1) 1
{2) Shimoga (2) fmfrm i
(3 Ballar Ay PE it g\“z
4 Dharwad @) s @ -
60. What was the correct sequence of ice ages that 60, qn & it i =17
comes to North America during the Pleistocene 2154 f!.‘ﬂgl'l‘l 1 @i &9 T mﬁiﬂ S
period? (1) F=aF — geENIET )
(1) Kansan - [llinoian - Nebraskan - et gﬁﬁﬂ
Wisconsin 2y~ AmewA - g~ L
(2) Nebraskan - Kansan - Tlinoian - fretfae _ gl
Wisconsin ) fwttes - Ll b
(3) Wisconsin - Kansan - Hlinoian - AR ' ﬂ-;&iﬁ"’ﬂ F
Nebraskan &) wEE — e
(4) Kansan - Illinoian - Wisconsin - E TR o A _ﬂj
Nebraskan 48 qglﬁ’]_ % & z
61. Which of the following river groups does not 61, Prefafam =81 D
have its origin in Rajasthan? il .
(1) Sabarmati - West Banas - Jawai -Khari (1) wEeE — 9 FE - i
(2) Som - Mansi - Wakal - Jakham @) W A - A —
(3) Gambhiri - Parvati - 2 ﬁ_m-qﬁﬁ—m@ﬁﬁ-
Parwan - A
(4) Banas Berach - Khari - @ T — g — TR — F=
Chandrabhaga » yart @ oA W 8
62 Which one of the following sequence of ciies 62 g e

across the Trans -

are correct, when travelli
Canadian Railways from

estern side _ v — faR — R
“:ﬁmasz . Ouawa - Vancouver - M T Lo
Winnipeg | ol @) e — FTEe — AR - S
(2) Ouawa - Quebec - Winnipeg
) Ot - Vancouver - Winties - @ s - Fog — R - gy
{ﬁ..:l . Ouawa - Winnipeg - AN m—m-mﬂa%
~ Vancouver de 63, WL ¥ e . + Toco -
engupta G. Sdasyuk's . TS B Jogq
Kashmir valley and hills R |
'ﬁmwﬂmwwm ,2:]; mw ugﬂm
IPPO A5 20207 ©krishna .. e R
Qg l:;f;:m Region "ﬁ: F TEq Wiy
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64, Match List-l (lrrigation Drinking Water
Project) with List-1l (River) and select the
correct answer using the code given helow -

List-1 List-11
A. Indira Lift a.  Gambhir River
Project |
B. Navnera b. Banas River
Barrage '
C. Ajan iﬂ-ﬂl o Chambal R1ver
1 K atisindh
arda dam d.
)i River
Code -
- A B i [}
{ 1 [ & i t‘l i
(2) 4 b s d
- | i b
3 ¢ ¢
b

> (4) a t d

g Which of the following models are related with
Umland or zone of Urban infl uence’
A Gravitational model of Carey
B, Breaking point concept of Converse
C.  Retail gravitational model of Reilly
Select the correct answer from the code given
below -
Code -
(1) only A and B are comect
(2) only B and C are correct
(3) only A and C are correct
(4) A, B and C are correct
66. P. Sengupta and G. Sdasyuk has divided India
Mo (@) ... Macro and (b) .........Meso

'I'.'-?.i (@)7 5) 41
@ (@7 g8
(b) 42
(b) 57

g1 (Feamd—daarel g & -1

@ (=&l W SRIGE! Fiforo men HE T S L
e 9T g —
-1 HA-1
A, EPe fore——a TR T
Sz )
B, O AWTH——p. AT T
C. W i e, TEE AR
D.  E¥RET zﬁué el i 18
FHIE —
A B i D
(n ¢ d b .
—2) a b e d.
(3 c d a4 b
4) a ¢ d A

(1) Hast A a7 B 981 &
(@) wae B e C WA
(3) @9 A T C W 2
A#H— A B a1 C |
66. U ST TR Ofl. WERGE 1 WRA W (a)

............ et T (b) ... T S gaEl
R f |

(1) (a7 (b) 41

(2) @7 (b) 48
AN (a)7 (b) 42

4) (a)8 (b) 57

Page 14 of 32
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% SRl T o '!LII
I which of the following scale, distance c€

be measured more precisely assuming same
RE.?
(1)

(2)

Plain Scale
Time Scale

(3) Revolution Scale

(4) Diagonal Scale
The air temperature al the ropopause i :
minus 80°C over the equator and about minus
over the poles.

ahoul

..................

(4) 75°C

Dinarics race is related to -

(1) Aupstraloid race

(2) Mongoloid race

(3) Negrito race

(4) Caucasoid race
Which pairs are correctly matched in the
context of Von Thunen's agricultural location

theory?

a.  Zone I - Market gardening and milk
production

b.  Zone Il - Firewood and lumbering
production

¢.  Zone IV - Three field system
d  Zone VI - only storing grain crops
wheat, rve efc.

Select the correct answer using the code given
below -

(1} ab,candd
(2) acandd
(3) aandb

(4) onlya

Which of the falg
matched?

(1) Kalisindh Ri\?er-ﬂ!ﬂ]nwa'r_and Baran
(2) Brahmani River - Tonk and Bhilwarg
(3) Mej River- Bhi[ﬂﬁm and Brngdj
(4) Kothari River -

wing is not correctly

Udaipur and Bhilwarg

d BET0.

E?—ﬁq aﬁa@fﬁ_mﬁaﬁﬂﬁ:ﬁnmm
Hapal &7
(1) e A
(2) P AT
(3) I HEA
@) famol A .
+ U & BT &
& ;Tﬁfmmsﬂ°ﬁﬁ@$w
48 4%
(2) 30°%
3 100° 9.
(4) 75°9
72. @ wenfy e @ g 27 +*
(1) ITEErgs g &l
(2) FTETTS Wl @1
3y e gl @
e A g/ W g wE gafer # /#
a U8 1w, weoll, g
2 ﬂau‘.ﬂﬂﬁﬁ?maﬁ
¢ U8 IV- A & ey
d. ¥ VI- Rew wmm w08
g ey R
R B ewim @ wd
gﬁq_
(1) ab.cdurd
(2) acwem d
A3 amnp
4) PaFEa
74, ﬁwﬁﬂwmﬁ@gv .*
(1) mﬁ‘ﬁqﬂ_ w
O 7 7~ dorarst v g —



75, Who is the author of the book ‘The Unstable  75.
Earth® from the {following?
l (1) LA, Steers
| (2) Sir George Airy
( (3) W.M. Davis
' (4) Alfred Wegener
7. Which of the following country is associated 76.
with *Shamal’ local wind?
(1) Brazil
(2) Traq
(3) Mexico
(4) New Zealand
77. What is the correct sequence of the ‘Elements 77,
of Slope’ on an ideal hill slope from top to
bottom?
(1) Convexity - Free face - Rectilinearity
- Concavity
(2) Concavity - Free face - Rectilinearity -
Convexity
(3) Convexity - Free face - Concavity -
Rectilinearity
(4) Concavity - Free face - Convexity -
Rectilingarity
8. Which one of the following statement is not 78.
correct about the Black/Regur soils in India?
Ii} Regur soils are found in Maharashtra
and Gujarat,
l (2) Black Soil is also known as “Tropical
Chernozem.’
(3) Black soil is mature soil.
(4) Regur soil have low water relaining
capacity.
29.  Which region is not included in main regions 7%
of commercial dairy farming from following?
(1) North Western Europe
(2) Canada _ _
(3) Indonesiaand Malaysia
5 2020 - Okrishna -
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N — 58

. -
= . -

g, N @ e A e E -

most flood prone siale of Indiais - (1) e DRI

8. The
(n West Bengal 3y EE
(2) Orissa
' - fAER
(3) Bihar il :
(4) Assam 3 3
: &t Wﬁﬁﬁﬁﬁ%ﬁﬁéﬂﬂﬂﬂﬂﬁflﬂlnﬁ

Which ameng the following 8roup of countries

have been top producers of Bauxite in 20217
(1) Russia, US.A., Greecs, China

(2) Brazil, India, Jamaica, [nd;nes_i:; ter ) e ;_.ﬂ-;r =
: : B | Tt
::1 fummﬁnm-mﬁih:rls:y;u 4) s, . 9 T aFrt, AT
amaics, Russia, U.5.A. _ -
i e
According to Weber, where should the industry g2, TR B aﬁﬂ'ﬁ!}ﬁ u;mwi A q;ﬂ My
be setup (o maximise profit, when the material ; E;I'IT el
index is one” g ey
(1) A the source of raw material (1) el A & | o
(3} Between the two 3) 2 @ e

(4) Anywhere away from the markel
Which of the following is @ feature of 83.

A L?
(1) Leamer controlled instruction

(2) Delayed feedback

(3} Uniformity in methods ol instruction
(4) Teacher pacing
Which one of the following is not matched

(3) SFEEE & adbl H THmul
@) Tere wEtEEeA
84, ﬁ‘ﬂﬁ?{ﬁﬂﬁﬁﬁmqﬁﬁﬁ@g?

correctly’
| ). i SCGIER arafifd
(1) ;Emeg::phc - North Atlantic i qﬂgmpﬁ'-
. At Ocean T b B et Ry
(2) WalvisRidge - South-Eastern e i mﬁg
Atlantic Oce m.
(3} Dalphin Rise - Southem i A Eifew g ol areaftes
(40 Wyville Thomson e | - |
_ mson - North-Easte (]
Ridge S I (4) fﬂﬁl?-l‘ T — m__ﬁ
;ﬁ‘i;f::;hi?f the following is not correctl 85. frefaRay TETHETR
:hed’ 'qﬁq'q“ mﬂ. |
{(Mountain Peak) o : ' i @'@7
;t:‘ Bilali mountain ‘iﬁtr.mu (7 foraz) (Fsrem) |
( ;r} Barwara mountain A'Wdr () el dq IR
; ['.T'*ur‘d mountain - erﬂ{:r A2Y T © s
(4)  Nagpani mountain - U&ém_'e (3) =y qﬁ;ﬁa i d
. aipur - = e
. )¢ VAT
. g, :
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with Lisi-11 (Found in area)

aatch List-1 ( soil) .
answer using the code

and select the correct

given below - .
List-1 List-11
(Soil) (Area)
A. Latente soil a. Chhota
Nagpur
B. Saline soil b. Maharashtra
C. Black soil ¢. Rajmabhal
Hills
D. Red-alluvial soil  d.  Kuotch region
Code -
A B C B]
D d c b i
(2) d ¢ i b
3 c d b i
4 c d a b

Which of the following is not a characteristics
of social development in adolescents?

(1) Increased peer influence

(2) Attraction towards opposite sex

(3) Extension of interest

{4) Social activities decline
What is the approximate age of the Akal wood
fossils located in Jaisalmer?

{1) 12 crore years

(2) 18 crore years

(3) 38 lakh vears

(4) 6 crore years

Study the facts related to literacy in Rajasthan
from the final figures of the 2011 census and
select the correct answer using code -

a.  The literacy rate of the state has
increased by 5.69 percenl in last 10
years,

b.  This increase for men are 825 and 3.50
percent for women.

¢ .Jl;lnre district had the lowest, while

unjhunu  distry e hi
Iiten?;]:yraw. TR N

d. Total hw.l'ﬁ{'.'}' rate of
ot the state
recorded at 66.1 percent. was
Code -

(1) aandd
(2) a,candd
(3) candd
(4) onlyd
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a8 Wﬁ iy Tl

fra Ry W TE H
g Iw ghu -

-1 il
(a1 9w (et were)
A, SevEe el BeT YR
B A FE il B
j ITHEH
G T e
D. E-ae H AT
@_" s
A B
(1 d c
(2) d ¢
A e, d:
4) c d ;
frafafag # @ @ e H
i, e % s @ &7

(3) 38 @@ 9y
(4) 6 T8 TN
T4 2011 B T B fEH ies |




'\L_‘:“_:J _‘m - -

93. Which of the

following is 4 focal - 7
Educational Psychology? area of 93. T%ﬁ*iﬁﬂ'ﬁ o e a— ﬁaﬂﬂ
(1) Leamning process DR & &
. A wferm gfem
(2) Community ;
(3) Management g
(4) Measurement S
94. As per classification of 1i 9w 3
Thornthwaite, which of the fuu:,,:{ﬂm. by x94. e & oreEr] GriTeyl @ ?
maiched correctly? g 15 nol ferferitaer ¥ & werar gAfed Croad
Tropical humiid ’ ‘ﬁ_wﬂ (1) w7 Hfea=ia g - BAT
(1) climate inadequate : StoraTy, T Hres
rainfall in all seasons T
(2) Tropical sub-humid - CA'g @) wey gReam ey - CAR
climate with less e Serar,
rainfall in all seasons A o A
(3) Tropical humid - BAw @) v sReadm s - BAW
climate with winter ' ey, e J
rainfall 78]
(4) Tropical semi-arid - DA (4) T HeAH DA'd
climate with deficit &g TG,
rainfall in all seasons i A # &
95. Which of the following is an example uf}ﬂ‘." fFyfafEe # ¥ &1
:nformation processing family? e &7
(1) Role playing model (1) e Frare sk
(2) Concept attainment model A2 Wy TuEtEr wieET
(3) Conceptual system model (3) e WO PIGEIE
(4) Social simulation model (&) wifonen e Wi
e it ot 0o D A ) % L e g
pmgmmn}ewaslaunchedin‘ WWW—_ .
7 districts of 9 states gy TRISTAD
) TR (2) 1 far T 7 Tl §
(2) 7 districts of 7 states ot
3) 12 districts Of 7 States S 1 fraoad
(3) ST {4}'}'%@15‘{@“1




—
g foe @ wen frw of A w47
= 98. TISCO was set up in - v8.
.-:j (1) 1946 (1) | S
¢ ~42) 1907
A (2) 1907 ok
':'-.f (3 1908 - o
| 4 1909 (4 1A
'E’l'.l 9. Statement - e = gra # 500 A 700 Pk aw e
- (@)  The rainfall in this region ranges from (a) oY 2|
y 500 to 700 mm, frdy e AR ST T B §
(b} The soil is lime - rich loamy and ::b; AR ﬂ‘g\ﬁi‘ﬂ HOH] T
| alluvial, ¢) AT, HYER,
: : Bl
(€} Bajra, arhar, jowar, wheat and mustard el —
are the main crops. _ (d) & &3 @W g “_"ﬂ"_ﬁl
(d) Ravine land is also found in this region Pl & AR R P e wow
On the basis of the above statements select the # e Rren wiE &1 944 #iforg —
district group included in the agro - climatic
region - (1) 3PN — SagR — 994 — <%
(1) Ajmer - Jaipur - Dausa - Tonk : A2y~ Feray — WRA9R — FHrei — g
(2) Alwar - Bharatpur - Karauli - Sawai
Madhopur T — H& — TS — Wi
(3)  Kota - Bundi - Jhalawar - Baran ::: i'?ﬂ'ET %_ fRrefteTs —
(4)  Dungarpur - Pratapgarh - Chittorgarh R ; z
. - Banswara 4TATE]
100, What was the total number of cities in 100, @ 2011 H o #w s
- Rajasthan in the year 2011 with a population of ST AT TR A e off —
; over one lakh?
{ (1 20 2 O 20
@ 25 @ 25
(3) 30 @37 30
101. Identify the wrong pair (Shifting agriculture 101, Ferferfige iﬁ@mmﬁaﬁ
and related country) from following - P Y WA 39) @ geme Siftn
(1) Jhuming - India (D T — g —
(2) Tamrai - Venezuela AZ) ﬁ"mﬁ = aﬁw '
(3) Milpa - Mexico (3) e — Afgey
(4) Ladang - Indonesia (4) =T — geRfnr
102.  According to Census of India 2011, what was 102, wRey SFRTYET 2011 @ —_
the population growth rate recorded in Kerala? - ‘E& - :wmgﬂmﬂ;__._.
(1) 4.30% M 4 30% ' :
(2) 4.91% @ 491%
i (3) 532%
(4) 5.76% @  576%
10- € Page 22 of 32 _



103.

Consider the follg

: Win g
the correct aNSwer u'iini'. i;nﬂttm"-nts and selegy
i e

a. -'I-h Code _
[~ Slnthm ey e_
the E.ll!ilr‘ic[h- of fegion

includes
Rajsamang.

irohj, Udsipur apd

sea leve]
The main peaks
Achalgarh
Shikhar,
Code -

(1) a.bande
(2) onlyc

(3) onlya

(4) aande

104. The apex body for agroforestry in India -
(1) ~ Ministry of Rural Development
(2) Ministry of Environment and Forest
(3) Ministry of Agriculture
(4) Ministry of New and Renewable
Energy

_uf Mount Aby are Ser,
Rtshikeﬂh and  Gury

105, Which of the following measures of humidity
is NOT affected by change in pressure and
temperature?

(1) Relative humidity

(2) Vapour pressure

(3) Specific humidit.y

(4) Absolute humidity N :
Which district from following is a leading
producer of feldspar in the Rajasthan S
(according to July 2022)?

(1) Baran

(2) Jalore

(3) Ajmer

@ Jodhpur o jated from—

106.

104.

Ay Bt HEwy :
(@) = ol R e HAT
105 st @i A B A S R

o aEE & g ¥ o
&7
(1) e s
(@) A T
(3 ﬁﬁrﬁm
106, FrefRen #§ ¥ T WS W @A

R e St § ol & (e




it ched?

Cement Unil Place
a.  A.CC. Limited - Khiaria
“a b.  Ambuja Cement = Rabriyawas
o g. 1. K Cement - Nimbahera
' d  Shri Ram Cement - Beawar
Code -
(1) wcandd {2) bandc
(3) aande (4) b,candd

end.” Who has given this concept from the
following?

(1) W.M. Davis

(2) James Hutton

(3)  Alexander Von Humboldt

(4) Bernhardus Varenius

of Learning propounded by Thorndike?
(1)  Law of multiple response
(2) Law of effect
(3) Law of exercise
(4) Law of readiness
111. Statement - 111.
ta) This soil has a high percentage of
~ clay.
(b) This soil is found in the district of
Jhalawar, Banswara, Kota, Bund; etc.
On the basis of above statements, select the
type of soil -
(1) Entisols
(2) Inceptisols
(3)  Alfisols
(4) Vertisols

112, As per the Elastic Rebound Theory, tectonic 112,

earthquakes are closely associated with which
of the following activities?

(A)  Faulting (B} Folding
(C)  Volcanic

Select the correct answer using code given
below -

Code -

(1) Only (A) is correct

(2) (A}, (B) and (C) are correct
(3) (B)and (C) are correct

(4) Only (B) is correct

108 Which of the following pairs are correctly  108.

109. “No vestuge of a beginning, no prospect of an 109,

110, Which of the following is the Subordinate Law 110,

C ; g =) F g—rﬂ S - '
o T P % e = <

Py et § e AT 22

dnive g ki
E el e — Ry .
- o € —  rafEumm
= iy A — &R
L i
q\? —

A7 g c o= d (2) b o™T ¢
,,#{:;'_}f Zﬁ'ﬂﬂﬂ A b, cTH d
,?ﬁmmﬁgﬁ%?ﬁﬁﬁﬁﬁ
aﬂ’s‘m%[”ﬁlﬁwﬁﬂww
ferd o1 oft?

I ‘E_," IS
ﬁ arerEFRAvEY 911 sHlee

4) FHErEY AT "
%ﬁmaﬁﬁ m%m?m
VI Gk
A27 W BT
A3 smmE w1 fam

(4) 9T & HEE
HYA —

(a) ?Eﬂﬁﬁ?ﬂ.ﬁﬁ'ﬂﬁﬁﬁﬁiﬁw

(
(b) T8 JSIAATS AT PIELvEaD)
e el # frer 2

IRET B B SER W g W 9w
FAET —

(1) vty
(2) TS

(3) I
A8 T
T e R @ arrar. Radfe
N @1 FfRa 4 & Ry wrfh
ﬁm?ﬁ_ S P rfafarn |
fﬁg "I B) g5+
A 2l T e w1 gy
o & ARILEE 2808 o r
EE,?-

(1) w3 (A)ud 2
fﬁr”(hl.tﬂl?ﬁn({:}mg

(3)  (B)Fem (C) wdy #

@) %39 (B) wd 2
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~d ey _ ; £/ = =4 . e e € - _

- o ! g % - ; _-'..I-‘ - ‘._ - B, &7 . * . '.‘

= . 3 ‘ﬁ';f"' "-tf' L 1 e s 1_-,';--!71'-!: o
L8 i M NS _ = Tz bl

. Which of the f ing )
113 of the following ocean currents is warm 113, By § & @bl smamda el lfﬂﬂ

in nature?
(1) Ovyashio current wepte & &7
(1) sty e
(2) Agulhas current
ﬁw 314
(3) Benguela current
(3) e
(4) Humboldt current
114. Who is credited for the : M] i & e
e preparation of a world 114,  UEell 4R WAAM & @ fagg AT
map with isotherm for the first time? : = QR e —
(1) Blache 1) =
(2) Humboldt o wE
(3) Huntington (3) EfFmes
()R] @t -

115. In Kohlberg's theory, at which level moral3p11s. PrEwer @ Ryarw . fod I s ﬁﬁ;@;
development is internalized and not based on fem @ e W amRe G T
external standards? e TR TRE B 87

(1) Pre - conventional level (1) T - wem e

(2) Conventional level o (2 wimE Wi

(3) Post - conventional level (3) T - WeT TR

(4) Interpersonal level L IS g #ﬁ; ot e

116. Which of the following centre of iron and steel  116- 20 T & o o

industry is known as ‘Rust Bowl of US.A.? m il e =
! (1) @A
(1) Loram gy fewat
{2} Pittsburg (3 -:@{
(3) e )

(4) Morrisville enmWIE, S ks JER
117, The author of the Book Geography P

Twentieth Century’ 18 - (1) e
untington &r ffi o
(2) Griffith Taylor A
J. Herbertson (4 e AN
3 A it & w' T gEfE




w

qameTe gfewer B O @ Wy
Prefafae s 3 ?m%ﬂz
#rrar 82 woA @ -

(1) dmes gfaT AR (1Q) §

119. Regarding  imporiance of  emotional 119.

intelligence following statements are given.
Select which one is true?

(4)

Success In  academics cannot be
predicted by emotional intelligence

(1) Emotional intelligence is not powerful
than 10). e ﬂf’?ﬁ!’ﬂ?ﬂ 8T B |

{(2) Person having high emotional _A2y ©w= Fﬁ'frfﬁﬁi g@"ﬁﬂ areT mfa:a
intelligence  likely to  succeed in gy oifga # 9 WY 1w -5
everything they undertake in their life. IJEH T B4 @ THIEAT BT &

(3) We may not be productive and happy (3) B AU HEMAD qfE B G @
aﬂﬂr kﬂDWi"g our EII]DtiI‘_'II'Iﬂl m w -qa‘ tg’g‘[ qﬁ 'g& Wﬁ gl
mntelligence, @) W ?ﬁ: @ et

Apern B wfasmart =@ @ oo
! &

measurement.

[~
120. Which of the following is not a characteristic #120. fr=ifoiegn 4 9 Eﬁi;”“ farea
T o

if

@ v
(1) Definite objectives (1) fAfFag eivg
(2) Interrelationship between elements (2) et § apadEy

(3) Posses boundary
(4) Static in nature

3 = fRard e 2
4) Rew ugfy

121. Insurance is related to which of the following 121. Fr=ferfg @jﬁr ey fhy a1 83
service sector? &7 :
(1) Primary ) i
(2) Secondary },‘:i IFGIEET
(3) Tertiary s
(4)  Quaternary "::i ﬁﬁ’i’ﬁ
o |

122. In the Population Policy 2000, by which year
the aim has been set to bring stability in the
population of India?

122. ¥ 2000 W Svien Ay ¥ frw o 7
ARG B S § e @ @ am

(1) 2040 R
(2) 2045 N Zasy
(3) 2050 82043
@ 2061 . 2050

(4) 2061

123, The low mounds developed in an extensive 123, % fovga @few 3

kettle are called a5 - R & HQ
® Yame | n.

@ Drumiipe Sy @
+ 3 Hummocks ) gufer v
. Esker @ |
\5 2020 - ©krishna @ TR
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"""" S given by 124, ‘W - st g
(1) A.N. Strahler ? ;TWW L -1 —
(4 o |
) S 1y © 3
{(3) W.M. Dil‘n'iﬂ . R P 15
(4) L.C.King 2) =&y, U
e 2 (3) =e, vH, 3R
125. "Human Geography is the : A4y uE W _
relationship between hum:;intheuf: E-rtutl}' of 125. "HIFG WS Hiwa WS aiR eI & fﬁi
earth’s surface.” Who has given EI::ZHE: ar.-d SN e e A1 ﬁﬂfgﬁg:?
of Human Geography from the ﬁ}"ﬂw"«: inition | T el o) ue af E A
(1) Ellen C. Semple ing?
(2) Paul Vidal de |a B} (1) wer . How
(3) FriedrichR e _2) diw fdem St @1 =
@) Alfred H oy 3) weRe Yo
S ettner (4) wEhE TN, = .
126. The ‘Death Valley' locatedin ... ... . g s # Rorg g TR T
is an example of Graben, g e 8 -
(1) Southern Anizona (1) =R -
(2) Southern Colorado PR ;
(3) Southern California (3) <R DR,
(4) Southern Texas @) =R
127. The asthenosphere is a part of which layer of 127. ghoarEse gl B aR® 9 Pl
Earth’s Interior - e e 27
(1) The crust (1) e
(2) The mantle A
(3) The outer core 3 @ aa‘rarm
4) The inner core (4) SRS
” umin, lesser the density, smaller 128. SOl W, o EEH, '-*i‘lm_"ﬁ-rﬁr fere
123. "rBiggﬂr the ﬂﬂl ; 1rwﬁogﬂweﬂﬁs 'EF—lﬁl" ﬁﬂf&ﬁﬁ ﬁ ﬂ. T HHE! w
the column, greater the d‘ms;ﬁ’.- - e
concept from the following W
(1 Sows @
(2) Hayford B e
o o o gl @ % — WA
(4) Airy E_ﬂmuf;&ﬂ. R SETE i
Select p related 0 i e @1 T
e material - ey, 4 — Y8, HHID
teaching - 1eaminE W pocebook B A g
pwiiiter, YOURR T i, e, 4 - T
(1) Blog. be. F k (2)

@) T, frarey, 4 — O, BHgH
(4) ghi= e:{ﬂ, W. ﬁﬁ"—r, TAg

——




130. TEA e W SR T dTell ey %
e HIfAY —

(3. Identify the canal passing through the Gatun

Like - ! ey
(1) The Suez Canal o
(2) The Kiel Canal

(3) TIer T8
g™l e
(4) The Panama Canal : #ﬁ“;ﬁfgﬁ 749 &g Tﬁa | HIFE BT
131. Who among the following is credited with 131.

(3} The Gota Canal

T remSamma——

; e | 7

establishing a4  humanistic approach in GOl BT A4 T @

- ¥

cltllgﬁl].'llh} ! “P‘L}T- !ﬂ, 2 .[Fq' qaﬂ:l

(1) Yi-FuTuan

e (2) T 9, oA

(2) BrianJ. L. Berry

(3) Lucien Gallois (3) g eitz

(4) Philippe Pinchemel @) fofer frers e

132. What 1s the cause of the adiabatic change of 132, 91gAvSH # Wﬁai"iﬁ P

temperature in the atmosphere? S %?

(1) Convection and advection (1) Waeq a1 AfasEd

(2) Latent heat of condensation (2) WY Bl T F=I

(3) Expansion and compression of air (3) g FT TER a7 TiET

(4) Partial absorption of solar radiation by M_W T W A =y kit

the atmosphere ST
133. Ina given map 4 sq. cm represents 16 sq. km, 133. Us #AefEE uw 4 CL T 16 97 @7 =9t

the R.F. will be - ¢ ® 7mRE &1 9ft (RE) 2T —

(1) 1:4.00.000 A 1:4,00,000

(2) 1:2,00,000 (2) 1:2.00,000

(3) 1:1,00,000 (3) 1:1,00.000

(4) 1:8,00,000 (4) 1:8,00,000

14. Which element of teaching model is related 134, e ufmrr @

: ‘ ; DI T e @
with the interaction between teacher and R & FAEHA P &7
learner? e '

(1) Syntax ]

(2)  Social system

(3) Focus

4)  Evaluation system

Who proposed the Glacial Control Theory
related to coral reefs? |

(1) Daly

135,




136. Which of the f
ollowip ,
& wind

been called a5

(1) Inselberg

(2) Mushroom Rock (1) ot
{3} zﬂﬂgﬂ,n [E.I_I — ﬁlﬁn
i4) Yardang (3 : : o . A% #;
I..T?- “:“'}E mean m\dm [4] w E‘M " 1b_\.-
10 - 0de of some data are 4 and 137, TR B e Lk
respeetively, its median will be - 4';1‘33 2 Eﬂﬁﬁm mq.ﬁ;ﬁ s
1 £ 41 i = &
ES; ; @ n 7 TR
4
@ 333 rE ‘;‘} ; 4
138. Which one of the followitig pairs is not 138. : S qﬁ _
correctly matched? ! ARkl :@ E‘—E S
Coastal @ L
_H__‘___ri:,gi__ ype li
of Indi e adt o d e SR (@)
Of india .
(Koeppen's) (1) WEERTE - Amwy
(2) Coromandel - As @y TR EE - As
Const (3) Wi 7 . BShw
(3) Konkan Coast - BShw
(4) W@ T - Aw
(4) Utkal Coast - Aw

A F R R

139, According o Alfred Weber, What is the o3 FEHY AR B AT, T AT FJ

formula for ‘Material Index'?
(1) Material Index = Weight of Finished
Good/ Weight of Raw Material

2) Material Index =

(3

&7

(1) uaef qEEE = S Al @l
R/ Fed A B AR

2 '@W-_-“ﬁmﬁmf
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Ligt2 140, FE-1 (B0 SAR) B HE-2 (Samm)
L=

(40, Match List-1 {Period) with W Fifory vd fe w1 o & HETTay H

(Approaches) and identify the correct answer A8 wew # T Siom —
from given code - : q‘ﬁﬂ—l @_3
List-1 List-2 o FrEfn (SUTTH)
(Period) (Approaches) (i) ofae—gE & A T ey
(i)  1930s through A, Spatial 1 1030
the inter-war organisation T TIH s
period (i) 1950 @ B. e
() Late 19505t0 B. Post- : TIE & Gﬂ?‘ﬁf@ﬁﬁm
the fate 1960 modernism  in st q 1
Geography & e @
(iii) 1970s C. Areal g dF
differentiation (iii) 1970 T, C. &9 gy
(iv) 1990s D. Emergence of TIH \Q
humanistic, {iv) 1990 71 . AT, e
radical  and R0 L EEIE
behavioural TR e
schoaols —
() () -C, (i) - A, (iii) - D, (iv) - B (D (@) -C, (i) - A, (iii) - D, (iv) - B
(2) (i)- A, (i) - C, (iii) - D, (iv)-B <2 (i) - A, (11) - C, (iii) - D, (iv) - B
(3) () - A, (i) - C. (iti) - B, (iv) - D (3) (i) - A, (ii) - C, (iii) - B, (iv) - D
(4} (1) -C, (i) - D, (iii) - A, (iv) - B @ ()-C, (i) - D, (iii)- A, (iv) - B
141 Identify the wrong pair (river and its tributary) 141, o gEm
from the following - HETq® =dl) @7
(1) Banas - Menal (1) 99 — 78
(2) Parvati - Moren (2) ol — HRe
(3) Luni - Sagi 3y — ot
12 In which district of Rajasthan, the ‘National 142, “Jsre Red ¥ ok wRe eefmea
Research Center for Arid Horticulture' has T & b g ¥ wnfaa B
been established? : g7
(1) Hlkaner (2)  Sri Ganganagar 1) drErew @) i
(31 Ajmer (4)  Jodhpur A7 s @), W
143, {.ccmﬁug o Alfred Weber, what is the M-143,  armps v B G‘Eﬁ“"‘! W T s
formula for ‘Labour Cost Index’? Ty &7 —— %
(1) Labour Cost Index = Total Weight of 1 ] e
Finished Good/ Labour Cost D @ speis = sk L
(3) Labour Cost Index = Labour Cog T HA WR/ 9 A
[Total Weight of Finished Goog @) 5% Fr qEDis = s wnr
() Labour Cost Index = Torl Weight of Fearfee T I A AR
Finished Good/ Labour Cost x 100 (3) T Wi = St g
@ Labour Cost Index = Labour Cogy P! B TR/ 57 wE x 100
Mol Weight of Finished Goog 100 RRCGRCLE oo
YPPO A5 2020 - Okrishn: ST 9 # w5 Aw” 100
Y - N -_"—_——-——____________
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. Which of g,
co-operative learnine
it ng'
‘i} EEHEHSM retention
:d’j le‘l‘:-ﬂlL‘r ROCin] .qu‘l_T[_'H_'ln
:| -':_’W achieyvement
(4) Low self-esieem
. Which one i i
of the followin i i
geosynchrongysg saielliie? B e
1y 1RE {(2) [INSAT
i3] LANDSAT (4 SPOTHRV.

. In which of the following phases of the moon, 36146,

"hﬂ_ Neap tide will occur?
(4) _ Oibbaus (B) Crescent
E:‘iii First quarter (D)  Third quarter
e -
(1) (A)(B), (C) and (D)
(2) (A).(C) and (D)
(3) (C)and (D)
(4) (A)and(B)
. In which physical region of Rajasthan is the
Dang - Gangdhar highland area located?
(1) Banger region
(2) Chhappan plains
(3) South Hadoti region
(4) Banas basin region
Which of the following is an incorrect pair 7
(1) Observational learning - Bandura
(2) Theory of meaningful verbal learning -
Thomdike
(3) Theory of operant conditioning -
Skinner N
(4) Theory of classical conditioning -
Pavlov : :
Who is the author of the book ‘Mental Map™?
(1) Lewenthal David and Orr L. B.

(2) Wolperl J. and Nick M. :
peter Gould and Rodney White

following 15 & benefit of 144,
A

ﬁlﬂrﬁ'ﬁﬂ'ﬁ T-‘| =l o e {md‘m AfereTH &l
ok BT v iyt

(1) =veuqr o
@) s i HeE
(3) = aumiiy
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aUUE B R

(1) smammn @ e

(3) dlsde @ Wit qﬁm{ﬂ‘f
e B Fredefs & @ w gl
A 3

(A) /el (B) A

(C) e agE }w—qﬁuf@ﬁﬂ
wE

(1) (A).(B), (C) @R (D)
{2) (A} (C) 3R (D)
(3) (C) R (D)

A4y (M) 3R (B)

. T — e g A A, Yo @ E

e i o R 87
(1) =R wem
(2) BT & A&H
(4) =T qR

148, P § ¥ SR g e?

(1) el A — FUgt

2y el s aferm @ Regrd -
(3) win smEeE @1 fgr — Re —
(4) e aEgEeE o T — ey

et AT G @ O € —
(1) wirere S w SR v i,
[2} ﬂmﬁﬁ;ﬁﬂﬁﬁﬁ.
(3) ey TTEEE YT UE @IEe

(3 |
| (4) PG B IW.
o, e § @ F UE 4@ v
Which of the following is NOT an Azimuthal  150. e
Projection- {1y TR TS WA

(1) Cylindrical Equal Ared Projection
(2) Polar Zenithal Bqual Are2 Projection
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